
SBL 0103 Ekenäs bridgeklubb

2023-09-09  Skäribridge 230909 Slutresultat
8 bord, 16 par. Antal brickor: 30. Medel: 210,0. Medel+/=/- ger 60 / 50 / 40 %.

Plac Par Poäng % Namn MID Klubb

1 5 259,3 61,7 Agneta Hampf - Benita Packvalén
2 13 247,3 58,9 Håkan Bjurström - Börje Eriksson 1305 1280 Ekenäs Bk
3 14 243,0 57,9 Anders Johansson - Jonny Barman 1217 1547 Ekenäs Bk
4 3 241,4 57,5 Regina Forssten - Ulla Lindström-Dahl 2266 2273 Ekenäs Bk
5 12 232,7 55,4 Marianne Lindstedt - Marjo Moliis 1255 2192 AV - B-55

6 11 231,0 55,0 Fred Sundwall - Carola Tengström 1098 1097 AV
7 4 225,9 53,8 Marie-Louise Sarén - Maj-Len Sarén  2198 Ekenäs Bk
8 9 225,4 53,7 Susanne Paul - Tom Schubert 1074 2100 AV
9 10 225,0 53,6 Kristina Lindroos-Henriksson - Birgitta Jansson-Koponen 2526 3107 AV

10 7 219,1 52,2 Maj-Britt Jensen - Runa Hornamo 1676 1780 AV

11 16 217,0 51,7 Auli Härkönen - Siv Hedström 3347 1396 AV
12 15 187,6 44,7 Nina Eriksson-Holmström - Kenneth Nykvist
13 1 172,7 41,1 Tuuli Mäkinen - Kosti Piipponen  2767 Ekenäs Bk
14 6 165,9 39,5 Helena Säteri - Janine Smeds 3350 3349 AV
15 2 137,1 32,7 Nina Hamberg - Gunilla Wahlberg 3282 3324 AV

16 8 129,6 30,9 Kenneth Stambej - Åsa Rodas 3319 3353 AV



SBL 0103 Ekenäs bridgeklubb

2023-09-09  Skäribridge 230909 Slutresultat
8 bord, 16 par. Antal brickor: 30. Medel: 210,0. Medel+/=/- ger 60 / 50 / 40 %.

Par Kontr Ut Resultat Poäng
Bricka:  1

4 15 2N N +1 3 150       9,0 5,0
6 3 3 N = K 110       0,0 14,0
9 7 3N N = 3 400       12,0 2,0

10 2 3 N +1 K 130       4,0 10,0
12 11 3 N +1 K 130       4,0 10,0
13 8 3N N +1 K 430       14,0 0,0
14 5 3 N +1 K 130       4,0 10,0
16 1 4 N +1 3 150       9,0 5,0

Par Kontr Ut Resultat Poäng
Bricka:  2

4 15 3N Ö +2 4 -460 6,0 8,0
6 3 3N Ö +3 5 -490 2,0 12,0
9 7 3N V +2 7 -460 6,0 8,0

10 2 3 V = 4 -110 10,0 4,0
12 11 3N Ö +4 D -520 0,0 14,0
13 8 3 V -1 kn 50       14,0 0,0
14 5 3N Ö +2 D -460 6,0 8,0
16 1 2 V = kn -90 12,0 2,0

Par Kontr Ut Resultat Poäng
Bricka:  3

5 1 4 S = 6 420       11,0 3,0
7 4 4x S = E 590       14,0 0,0

10 8 2 S = E 110       6,0 8,0
11 3 4 V -1 D 100       4,0 10,0
13 12 3 S = E 140       8,0 6,0
14 9 4 S -1 E -50 1,0 13,0
15 6 4 S -1 E -50 1,0 13,0
16 2 4 S = 8 420       11,0 3,0

Par Kontr Ut Resultat Poäng
Bricka:  4

5 1 1N V +1 8 -120 1,0 13,0
7 4 1N V = 2 -90 5,0 9,0

10 8 1N V -1 3 100       11,0 3,0
11 3 2N V = 2 -120 1,0 13,0
13 12 1N N = 5 90       8,0 6,0
14 9 2 V = E -90 5,0 9,0
15 6 2N V -1 2 100       11,0 3,0
16 2 3 V -2 3 200       14,0 0,0

Par Kontr Ut Resultat Poäng
Bricka:  5

1 7 2 Ö = 3 -90 14,0 0,0
6 2 3 N -1 2 -100 8,0 6,0
8 5 4 N -4 E -400 0,0 14,0

11 9 4 N -1 E -100 8,0 6,0
12 4 1N N -1 3 -100 8,0 6,0
14 13 3N N -1 E -100 8,0 6,0
15 10 3 N -1 9 -100 8,0 6,0
16 3 3 N -2 E -200 2,0 12,0

Par Kontr Ut Resultat Poäng
Bricka:  6

1 7 4 N -1 E -50 3,0 11,0
6 2 4 N -2 2 -100 0,0 14,0
8 5 3 S -1 E -50 3,0 11,0

11 9 4 N +1 3 450       13,0 1,0
12 4 4 N +1 3 450       13,0 1,0
14 13 4 S = E 420       9,0 5,0
15 10 3 N +2 3 200       6,0 8,0
16 3 4 N = 3 420       9,0 5,0

Par Kontr Ut Resultat Poäng
Bricka:  7

1 11 1N Ö -2 5 200       13,0 1,0
2 8 2 Ö -1 kn 100       10,0 4,0
7 3 2N V = 7 -120 1,0 13,0
9 6 2 Ö = 5 -90 8,0 6,0

12 10 1N Ö -2 kn 200       13,0 1,0
13 5 3 S -1 9 -100 6,0 8,0
15 14 2 Ö = K -110 4,0 10,0
16 4 1N V +1 10 -120 1,0 13,0

Par Kontr Ut Resultat Poäng
Bricka:  8

1 11 3N Ö +2 4 -460 5,0 9,0
2 8 3N Ö +1 kn -430 13,0 1,0
7 3 3N V +2 4 -460 5,0 9,0
9 6 3N V +1 4 -430 13,0 1,0

12 10 3N V +2 4 -460 5,0 9,0
13 5 3N V +2 2 -460 5,0 9,0
15 14 3N Ö +2 8 -460 5,0 9,0
16 4 3N V +2 2 -460 5,0 9,0

Par Kontr Ut Resultat Poäng
Bricka:  9

1 15 4 S = 9 420       0,0 14,0
2 12 4 N +1 D 450       7,0 7,0
3 9 4 S +1 3 450       7,0 7,0
8 4 4 N +1 6 450       7,0 7,0

10 7 4 S +1 E 450       7,0 7,0
13 11 4 S +1 9 450       7,0 7,0
14 6 6 S = 5 980       14,0 0,0
16 5 4 S +1 E 450       7,0 7,0

Par Kontr Ut Resultat Poäng
Bricka:  10

1 15 3N V = 5 -600 1,0 13,0
2 12 3 V = K -110 6,0 8,0
3 9 2N V +1 5 -150 4,0 10,0
8 4 3N V = K -600 1,0 13,0

10 7 1 V -1 10 100       9,0 5,0
13 11 3 Ö -1 10 100       9,0 5,0
14 6 3N V -2 5 200       13,0 1,0
16 5 3N V -2 5 200       13,0 1,0



SBL 0103 Ekenäs bridgeklubb

2023-09-09  Skäribridge 230909 Slutresultat
8 bord, 16 par. Antal brickor: 30. Medel: 210,0. Medel+/=/- ger 60 / 50 / 40 %.

Par Kontr Ut Resultat Poäng
Bricka:  11

2 1 2 Ö -1 K 50       9,0 5,0
3 13 3 S -1 8 -50 6,0 8,0
4 10 3 S -2 8 -100 2,0 12,0
9 5 3 S -2 8 -100 2,0 12,0

11 8 2 S +1 9 110       12,0 2,0
14 12 3 S -2 8 -100 2,0 12,0
15 7 3 Ö -1 3 50       9,0 5,0
16 6 2N S +1 5 150       14,0 0,0

Par Kontr Ut Resultat Poäng
Bricka:  12

2 1 1N S = 5 90       4,0 10,0
3 13 2N S = 5 120       7,0 7,0
4 10 2 Ö -1 5 50       2,0 12,0
9 5 1N S +1 4 120       7,0 7,0

11 8 1N S +2 E 150       12,0 2,0
14 12 2 Ö -3 E 150       12,0 2,0
15 7 2N S -1 4 -100 0,0 14,0
16 6 1N S +2 5 150       12,0 2,0

Par Kontr Ut Resultat Poäng
Bricka:  13

1 8 3 V -2 3 200       14,0 0,0
3 2 1N N +3 E 180       12,0 2,0
4 14 2 Ö -1 3 100       5,0 9,0
5 11 3 N +1 E 130       9,0 5,0

10 6 2N N -2 3 -200 1,0 13,0
12 9 3 N +1 E 130       9,0 5,0
15 13 2N N -2 3 -200 1,0 13,0
16 7 2 Ö -1 3 100       5,0 9,0

Par Kontr Ut Resultat Poäng
Bricka:  14

1 8 1 S +3 E 170       6,0 8,0
3 2 4 S = E 420       11,0 3,0
4 14 4 S +1 E 450       14,0 0,0
5 11 4 S = E 420       11,0 3,0

10 6 2 S +2 5 170       6,0 8,0
12 9 3 S +1 E 170       6,0 8,0
15 13 4 S -1 E -50 0,0 14,0
16 7 3 S = E 140       2,0 12,0

Par Kontr Ut Resultat Poäng
Bricka:  15

1 14 1 V -1 E 50       8,0 6,0
2 9 1N Ö = E -90 5,0 9,0
4 3 1N N +2 7 150       14,0 0,0
5 15 1 V -2 E 100       11,0 3,0
6 12 2 S -3 E -300 0,0 14,0

11 7 1N Ö = 3 -90 5,0 9,0
13 10 2N Ö -2 D 100       11,0 3,0
16 8 3N S -2 E -200 2,0 12,0

Par Kontr Ut Resultat Poäng
Bricka:  16

1 14 2 Ö = 2 -110 2,0 12,0
2 9 2 N -2 9 -100 4,0 10,0
4 3 1N N = 9 90       9,0 5,0
5 15 2 Ö -1 E 100       13,0 1,0
6 12 2N S -3 2 -150 0,0 14,0

11 7 2 N -1 5 -50 6,0 8,0
13 10 2 Ö -1 E 100       13,0 1,0
16 8 2 N = 5 90       9,0 5,0

Par Kontr Ut Resultat Poäng
Bricka:  17

2 15 5 V +1 kn -480 3,0 11,0
3 10 5 Ö = kn -450 7,0 7,0
5 4 6 Ö = kn -980 0,0 14,0
6 1 4 Ö = 4 -420 10,0 4,0
7 13 4 Ö +2 kn -480 3,0 11,0

12 8 3 Ö = kn -140 12,0 2,0
14 11 6 Ö -1 E 50       14,0 0,0
16 9 4 Ö +1 4 -450 7,0 7,0

Par Kontr Ut Resultat Poäng
Bricka:  18

2 15 3N S = D 600       6,0 8,0
3 10 6N S -3 4 -300 0,0 14,0
5 4 3N N +2 9 660       14,0 0,0
6 1 4 S = D 620       9,0 5,0
7 13 4 S = D 620       9,0 5,0

12 8 3N N -1 9 -100 3,0 11,0
14 11 6 S -1 D -100 3,0 11,0
16 9 4N N = 2 630       12,0 2,0

Par Kontr Ut Resultat Poäng
Bricka:  19

3 1 3N S +2 6 460       10,0 4,0
4 11 6N N -2 10 -100 0,0 14,0
6 5 5 N = 8 450       6,0 8,0
7 2 3N N +3 10 490       14,0 0,0
8 14 3N N = 10 400       2,0 12,0

13 9 3N N +2 3 460       10,0 4,0
15 12 3N N +2 10 460       10,0 4,0
16 10 3N N +1 3 430       4,0 10,0

Par Kontr Ut Resultat Poäng
Bricka:  20

3 1 2 S -1 4 -100 6,0 8,0
4 11 2 N = 6 110       11,0 3,0
6 5 3 N -2 8 -200 2,0 12,0
7 2 2 N +1 K 140       14,0 0,0
8 14 3 N -3 8 -300 0,0 14,0

13 9 2 N = 5 110       11,0 3,0
15 12 2 N -1 8 -100 6,0 8,0
16 10 3N N -1 7 -100 6,0 8,0



SBL 0103 Ekenäs bridgeklubb

2023-09-09  Skäribridge 230909 Slutresultat
8 bord, 16 par. Antal brickor: 30. Medel: 210,0. Medel+/=/- ger 60 / 50 / 40 %.

Par Kontr Ut Resultat Poäng
Bricka:  21

1 13 1N V +4 6 -210 4,7 9,3
4 2 2 S = E 110       13,9 0,1
5 12 1N V +1 2 -120 9,3 4,7
7 6 3N V = 4 -400 0,1 13,9
8 3 1N V = 4 -90 11,6 2,4
9 15 3 S -3 E -300 2,4 11,6

14 10 2N V +1 4 -150 7,0 7,0
16 11 M=/M= 7,0 7,0

Par Kontr Ut Resultat Poäng
Bricka:  22

1 13 2 V -2 6 200       12,0 2,0
4 2 2 S -1 5 -50 8,0 6,0
5 12 2 S -2 5 -100 6,0 8,0
7 6 2 Ö = 6 -110 4,0 10,0
8 3 2N Ö +1 K -150 1,0 13,0
9 15 2 V -3 6 300       14,0 0,0

14 10 2N N -3 4 -150 1,0 13,0
16 11 2N V -1 5 100       10,0 4,0

Par Kontr Ut Resultat Poäng
Bricka:  23

2 14 3N Ö +2 4 -660 5,0 9,0
5 3 3N Ö +2 E -660 5,0 9,0
6 13 3N Ö +1 4 -630 12,0 2,0
8 7 3N Ö +2 10 -660 5,0 9,0
9 4 3N Ö +2 4 -660 5,0 9,0

10 1 3N Ö +2 4 -660 5,0 9,0
15 11 3N Ö +2 E -660 5,0 9,0
16 12 1N V +3 D -180 14,0 0,0

Par Kontr Ut Resultat Poäng
Bricka:  24

2 14 1N Ö +2 2 -150 0,0 14,0
5 3 1N V +1 4 -120 6,0 8,0
6 13 3N Ö -2 2 100       14,0 0,0
8 7 1N Ö +1 kn -120 6,0 8,0
9 4 1N Ö = 2 -90 11,0 3,0

10 1 1N Ö = 2 -90 11,0 3,0
15 11 2 V +1 2 -140 2,0 12,0
16 12 1N Ö +1 2 -120 6,0 8,0

Par Kontr Ut Resultat Poäng
Bricka:  25

1 12 3 N = 9 110       0,0 14,0
3 15 4 S = E 420       10,0 4,0
6 4 4 S = E 420       10,0 4,0
7 14 4 V -2 K 200       3,0 11,0
9 8 4 S = E 420       10,0 4,0

10 5 4 S = E 420       10,0 4,0
11 2 4 S = E 420       10,0 4,0
16 13 3 S +2 E 200       3,0 11,0

Par Kontr Ut Resultat Poäng
Bricka:  26

1 12 4 N +2 4 680       1,0 13,0
3 15 6N N = kn 1440       12,0 2,0
6 4 5N N +1 kn 690       6,0 8,0
7 14 6N S = 8 1440       12,0 2,0
9 8 4N S +2 8 690       6,0 8,0

10 5 5 S +1 10 680       1,0 13,0
11 2 6N S = 6 1440       12,0 2,0
16 13 5N S +1 6 690       6,0 8,0

Par Kontr Ut Resultat Poäng
Bricka:  27

2 13 4 N -3 E -150 0,0 14,0
4 1 3 S +1 10 170       14,0 0,0
7 5 4 N -2 E -100 2,0 12,0
8 15 2 N = E 110       9,0 5,0

10 9 3 N -1 6 -50 5,0 9,0
11 6 3 N = E 140       12,0 2,0
12 3 2 N = E 110       9,0 5,0
16 14 4 S -1 kn -50 5,0 9,0

Par Kontr Ut Resultat Poäng
Bricka:  28

2 13 2N N = 4 120       8,0 6,0
4 1 3 N = 6 110       4,0 10,0
7 5 1N N +2 4 150       12,0 2,0
8 15 2N S -4 6 -400 0,0 14,0

10 9 1N N +1 4 120       8,0 6,0
11 6 1N N +3 4 180       14,0 0,0
12 3 1N N +1 2 120       8,0 6,0
16 14 1N N = 4 90       2,0 12,0

Par Kontr Ut Resultat Poäng
Bricka:  29

3 14 4 N -1 8 -100 1,0 13,0
5 2 4 S +1 kn 650       11,0 3,0
8 6 4 S +1 kn 650       11,0 3,0
9 1 4 S +1 kn 650       11,0 3,0

11 10 4 S = kn 620       5,0 9,0
12 7 4 S +1 8 650       11,0 3,0
13 4 4 S -1 kn -100 1,0 13,0
16 15 4 N = E 620       5,0 9,0

Par Kontr Ut Resultat Poäng
Bricka:  30

3 14 3 V -2 4 100       12,0 2,0
5 2 2 S +1 K 110       14,0 0,0
8 6 2 V +1 4 -140 3,0 11,0
9 1 2 V = kn -110 9,0 5,0

11 10 2 Ö +1 6 -140 3,0 11,0
12 7 2 V +1 kn -140 3,0 11,0
13 4 2 V = 4 -110 9,0 5,0
16 15 2 V +1 kn -140 3,0 11,0


